d df dg d
: %(f +g) = e 18. @coth(:v) = —csch?(z)
d d d, ., .
: %(cf) = cé 19. E(C ) = c"1In(c)
L (rg) = £39 4 4 ¥ 20 L (tog, () =
CdeV Y T e T Cdrt In(a)x
df  .dg d .., 1
i f :gdx dr 21. %smh x—m
dx \ g 9? p
d 22. —cosh™ z = , forx >1
—(¢) =0 dx 72 —1
23 itanhflx = ! for |z] <1
: di(xo‘) = az®! dx V1—a?
x
d 24 iCoth_lx = ! for |z| > 1
: @sin(x) = cos(z) Cdx RV
d 1
d . 25. —sech 'z = ————, for 0 1
: %cos(x) = —sin(x) dp ot ov/1 — 22’ orvs <
d 2 26 iCsch_1$ -1 for x # 0
. —$tan(x) = sec”(x) wr T RVite
: diSec(x) = sec(z) tan x 27. (fog)(2) = flg(x))g ()
x
o o _ i
- cse(r) = — ese(x) cot(x) dr  dudr
x
d 1
29. —sin"!(z) = , for |z| <1
- cot(z) = — csc?(z) dx V1-—a?
x
d -1
30. — cos !(x) = for |z] <1
: di sinh(z) = cosh(z) dx (=) V1—2? 2
x
d 1
31. —tan™'(z) =
. iCosh(av) = sinh(x) dz " (z) 1+ 22
dx ; :
2. —cot () = —
: ditanh(x) — sech?(x) 3 dz (%) 1+ a2
x
d 33, oo a) = — 1 for [a] > 1
: @sech(x) = —sech(z) tanh x Cdp T lz|va? — 1 or I
a h(z) = —csch(z) coth(z) 34. —csc H(z) = =t for |z| < 1
. 7-esch(z) = —csch(z) coth(z d 2|V —1
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o4.

d @

L e = Fo@)/ ) - flu())

Ji Fydt = fv) = f(a)

sinz + cos?x = 1

cosh® z —sinh®z = 1

sin(z + y) = sin(z) cos(y) + cos(z) sin(y)
cos(z +y) = cos(x) cos(y) — sin(z) sin(y)

cos(m — n)x — cos(m + n)x
2

sin mx sinnx =

sin(m — n)x + sin(m + n)x
2

Sin mx cos nr =

cos(m — n)x + cos(m + n)x
2

COSMI COSNT =

sinh(2z) = 2sinh(x) cosh(x)

cosh(2z) = cosh? z + sinh? z

1 2
cos?(z) = LT 005(27)
2
1-— 2
sin?(r) = —C;S( ?)

cos(/6) = sin(7/3) = v/3/2
sin(r/4) = cos(m/4) = v/2/2
Law of cosines: ¢? = a®+b? — 2ab cos(C)

Law of sines: sin(A) _ SIDIEB) _ sin(C')
a c




